A A A(-2, 5), B(0, 2), C(5, p) 7}
A= o, p 9 g Fotoiet

o grol Z71g

o y o] F-2

A (k+3, —4) 7}
flofl - o, k 9

A A x4 2y =a Fbr+3y=57F4 (2, 1)
= A o, a+b 9 g okl
o 2z Ay y

_ A
2 A ar+y =3

r—2by =—1
o] a#jzolet a+b ©
27
10

® 1 @ 2
® 3 @ 4
® 5

&

o
A A A(-1, —3),B(3, 5), C(m, m+3)°] 2% gt
214 91o] HY wf, m 2] g Fshodz=t.
x, yoll TSt F AAFAA] 50 — 2y —7=0, —22 +
3y—6 =02 27t H P(a, B) oA W, o+
o] k27
-6 ©@-3 O3 @ 5 ®7
LA A ax+by+3 = Y
09 IZ=j=7} ohg 1) r---13
b Zg ul, A4 m o 1
22 (H a, b= L\l >
m (0] T
® -3 @ -2 s
1 1
® -3 @ -5
® -1
AALAA 20 — 3y — 12 = 0 o] g A & 22

@ QX o= Foh= T molr),

ONENE) ® 00 0060

ONERC) ONCNC)




11.

12.

13.

14.

15.

2 y =ax+bla < 0)° Yol {z |1 <
r<4tolal, Aol {y | 5<y<1}¥¢ W, a+bE

®-2 ©®@-1 O®0 @ 1 ® 2

the w3 2o £ Ny

2ol qF Fof|A wt m /

g, 5 440 B

A1, me] 2] A 2

=7 >

A PN

5 3

@ (727 3) @ (757 5) @ (il, 3)

@ ( 17 g) @ (_77 3)

2 A g9 WolE y S VIR Ul

F ARG y=ar+c,y=br+c o AL} 5

o
e e a+b o =

455 o] STt ofnf, P> o] #t& szt

g uk2] 7t 1m/s
GESITE EHol A oA




